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General Instructions/ I forder
1. Write your Name, Roll Code, Roll No. Registration No., Date of Exam., Sitting, Faculty

and Name of the Subject on the OMR Answer Sheet in the space Provided. Put Your Full
Signature on the OMR Answer Sheet in the space Provided.
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2. There are 40 Multiple Choice Questions in all.
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3. All questions are Compulsory. Each question carries 1 mark.

3t ueer siferard €1 URe Uee 1 3k dHI B

4. Four Options are given for each question. Choose the most suitable option and indicate
it by blackening the appropriate circle [@] in the OMR Answer Sheet given separately. Use
only Blue/Black Ball-Point Pen. The use of Pencil is not allowed.
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5. Before leaving the examination hall hand over the OMR Answer sheet to the invigilator.
You are allowed to take the question paper with you.
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Adhere to the instructions above very carefully otherwise your OMR Answer

Sheet will be invalid and will not be evaluated.
Huz aftfa fordell &1 eaTeiydes UleTal dITSIE 3Tl 3TUdhl 34T
Uslch 3THATST &9 30T 3IHADBT Slid T8l b S |




CLASS -XI
HATed goa—usl Ae— 1
gIrelm ao — 2020
BUSINESS STUDIES

frrfoRaa # & foret ol @ eravgaar 8 2 27
Which of the following does not require Capital?
(A) ISR (Employment) (B) UIHT (Business)

(C)m?ﬁ gl (Bothe A & B) (D)ﬁ?ﬂ (Profession)
1 4 ¥ R IR @) WERd o &1 st # i T8l fam S | 77

Which of the following cannot be classified as an auxiliary to trade?

(A) 999 (Mining) (B) HUSRYT (Warehousing)
© g (Insurance) (D) I1ddTd (Transport)

P A DI Jadh A1 | URakid B bl STIIRITT BT Foid 2?

What type of utility is created by converting raw materials into finished goods?

(A) T ST (Time Utility) (B) R SYAINTT (Place Utility)
(C) ¥aTfa YA (Ownership Utility) (D) Y STIAIAT (Form Utility)
The liability of the businessman in a sole trading business is :

(A) HIfAT (Limited) (B) ™IMT (Unlimited)

(C) SWth Ml (Both A & B) (D) @13 78! (None)

fgvg, STRIEIAR AT DHd IR garT?

When was Hindu Succession Act passed?

(A) 1956 (B) 1948

(©) 1932 (D) 1980

The minimum number of partners in a Firm is ..7....
(A)2 (B)7

© 10 (D) 20
HEHR] GG H TRl Bl YAqH |1 Bl & —

The minimum number of members in a Co-operation Society is -
(A)2 (B) 10
©7 (D) 20
U AN I IR GRA T DI A1 d &1 H RG] A1MRY?

Which of the following is the factor to be considered while starting a business?



10.

11.

12.

13.

14.

15.

16.

(A) FIFrY dT TIT (Selection of business) (B) IJHY &T ST (Scale of business)
(C) IIHT DI WA (Place of business) (D) SRKRH T (All of the above)
TG BH B ORI BT TAV-TF DI SIRT Bl 27

Who issues certificate of registration to a firm?

(A) XISg WPR (State Government) (B) \ISY {¥HR (Central Government)
© AT T W (Registrar of Firm) (D) IRRH § ﬂﬂ‘&s BEl (None of above)
B b W b g1 Aide 2 &?

What ascertain the objectives of a company?

(A) UTSE 3FII¥(Article of association)

(B) UTSE WMIT9 (Memorandum of association)

(C) WA (Prospectus) (D) 37H ¥ s &l (None of these)
= # & oF el S5 T8l § ?

Which of the following is not a foreign MNC ?

(A) BIBTBIAT (Coca Cola) (B) Ra& (Reebok)

(C) RIS (Loreal) (D) Afg=&T (Mahindra)

1 1 BN A cgawfye AT TE 87

Which of the following is not a business service ?

(A) §fT (Banking) (B) ITTET (Production)

(C) ITITATT (Transport) (D) 93 189 (Communication)
R R d wrfia germ —

Reserve Bank of India was established in :

(A) 1955 (B) 1932 (C) 1935 (D) 1950

TS SUHH BT I BT el Seed & —
Primary objective of establishing a public enterise is -

(A) °M DHMI (Earn Profit) (B) AT PR (Provide Service)

© ORI g9 Bl W"T XAl (Misuse of Government Money)
(D) 371'3[ Bl EbT%‘ BEl (None of these)
aiff i uiferedt 2. @ forg oft Sl 2

(A) T& (One) (B) & (Two)
(C) T (Three) (D) IR (Four)
T & foly e IUYH TN § —

The most suitable account for businessman is —

(A) R S @ran (Fixed Deposit Account) (B) 9dd 9Idl (Saving Account)
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(C) dTef WIdTl (Current Account) (D) ?ﬁﬁ Bl ?’OAﬁiS T8l (None of these)
WM IYIRT U8 &1 A 8 —

Place utility is created by -
(AT SGRE (Transportation) (B) HUSRUT (Warehousing)

© T qTeq (Communication) (D) 371'3[ 5| EbT%‘ BEl (None of these)
...... .. ® AR, "3 AT QA W A0S ARKAT & W 7, [TARI, TORA & SEH JeH
Pl <A bed 8l

According to ....7........., “Communication is an exchange of facts, ideas, opinions or

emotions by two or more persons.”

(A) 7\’@7[ Tqd HAY (Newman and Summer) (B) TR (Parker)
(C) Telovd0 5l (L.H. Haney) (D) ST-F}( 9 aﬂé BEl (None of these)
DN 7 AT BT & T AT € -

E-Commerce has made the scope of business -

(A) R (Local) (B) I (National)

(C) IR (International) (D) &7 (Regional)

DA BT UTGHIT goTl & —

Emergence of E-commerce was in -

(A) 1960 (B) 1970 (C) 1980 (D) 1965

qHIfoId STRERRT & —

Social responsibility is -

(A) Eb—ITfﬁ RGN (Legal responsibility)

B) Eb"l*fﬁ STREIRRG ¥ 31f® ﬁ?ﬂ_d (Broader than legal responsibility)
© Cblidr\l SRR | BIe] (Narrower than legal responsibility)

(D) 371'3[ Bl EbT%‘ BEl (None of these)

SfCHIAZd ERT $Te AFMIGHIES B BIST Te ¥U | HgdI HRdl § —

Carbon monoxide emitted by automobiles directly contribution to -

(A) Vlcl UQHUT (Water Pollution) (B) &gt UGHUT (Nosie Pollution)

© 91&( G¥UT (Land Pollution) (D) dig UgHUT (Air Pollution)
391 B BRI FIAR Ao & fbg UTeU @l fa9iar @ P

Which of the following has “transferability of shares” as a feature ?

(A) B (Company) (B) UdT®I &R (Sole proprietorship)

(O AR (Partnership) (D) “H?g\_"ﬁ %ﬂ IRIR &R (Joint Hindu Family Business)
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frfoRad # dF-¥ |g Yol & d T2 8 ?

Which is not the limitation of joint stock company ?

(A) ST H BT (Difficulty in formation) (B) ®H JSll (Less Capital)
(C) Fofal § <X (Delay in decisions)

(D) HOR ARBRI T (Strict Government control)

G B IR BT & -

Shareholders if a company are -

(A) WMl (Owners) (B) ZRUIGTAT (Creditors)

(C) TR (Debtors) (D) 374 & ®IF 78l (None of these)

7 & & & <re@rele 9T $1 9 78§ 2

Which of the following is not source of long term finance ?

(A) FHdT 39 (Equity shares) (B) tI:CI'T@I_CFI'\’ 313 (Preference shares)

(C) gU<3l (Hundies) (D) ™I &I ARG (Ploughing back of profit)
3 TR AN A R -

Payment of dividend on shares is -

(A) 31 (Compulsory) (B) V8@ (voluntary)

(C) JTaeIF (Necessary) (D) 378 & ®1F 78l (None of these)

ICICI &1 RITUT &9 gg off ?
When was ICICI established ?

(A) 1948 (B) 1955 (C) 1936 (D) 1984
GDR g b Srar g —
GDR is issued -

(A) IRA Hal ¥ (In Indian Currency) (B) uvs ¥ (In Pound)

(C) STeR ¥ (In Dollar) (D) 371'3[ Bl EbT%‘ BEl (None of these)

ar &3 W oy W San A R e g -
The investment limit of SSI in service sector does not exceed -

(A) T 1308 R 1 crore) B) T 2 3 2 crore)
(C) T 5% (5 crore) (D)T 10 TS @ 10 crore)

Y JAN B TWHRI G Y& Bl ol & —

Government support to small industries is provided through -

(A) I g (Incentives) (B) 3qaTT gRT (Grants)

(C) RIMIT ERT (Subsidies) (D) T8 ¥ T (All of these)
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Y SN I DI & RO 69 ARl & gy fom T ?

Which institute established the Small Industries Development Fund.

(A) IDBI (B) SBI (C) HDFC (D) PNB

A B R R GYaH! & Grer ye: < 9 g 2

The facility of home delivery of goods is generally provided ?

(A) | AR gRT (By Retailers) (B) <cllel §NT (By Brokers)

(C) STEHI gRT (By Producers) (D) A% fabdr gRT (By Wholesaler)
THe I 3R SR fawa Fwar @ -

Cash purchase and credit sale is done by -

(A) | TR (Retailer) (B) M TR (Wholesaler)

(C) IdUTadh (Producers) (D) T4 A Pl Tl (None of these)
frreiferd # Faiansil @1 wea e o @1 8 ?

Which of the following is the manufacturer’s retail establishment ?

(A) i queR (Departmental Store)  (B) W g®I (Multiple Shop)

(C) YW dIWIR (Super Market) (D) T8 ¥ T (All of these)
i 3P B A HHECT & —

Less profit per unit is earned by —

(A) o ATIRT (Wholesaler) (B) STEH (Producers)

(C) BeaR MR (Retailer) (D) ! (Company)

IRT T A9 P 7Y B qTell AR © —
The trade between India and China is -

(A) RIMY AR (Local Trade) (B) &3 ATIR (Regional Trade)
© <9 AR (Home Trade) (D) faceh @R (Foreign Trade)
519 3maTd, FIfd @1 o | 31 B A1 @R Ao g —

When import exceeds the export then balance of trade will be -

(A) JA]del (Favourable) (B) ﬂﬁ?ig\_vf (Unfavourable)
(C) M= (Normal) (D) ﬂ—g”%lﬁ (Balanced)

oo AUR & TG Tedl &, Hiifh —

Foreign trade is needed because -

(A) TAS I AR Tel © (Every country is not self sufficient)
(B) TAS I AT & (Every country is self sufficient)

© AP oI Udh f{\’ﬁ 9 98d X g (Every country is at a long distance with the other)



40.

(D)?fl'ﬁf Bl EbT%‘ BEl (None of these)
frforRad # W A1d & W@ & Yol BIF 1 8 ?

Which of the following is the document of the title of goods ?
(A) oM GRS (Mate’s receipt) (B) @ ) UTet (Charter Party)

(C) Wewl f9edl (Bill of Lading) (D) SUSTC (Indent)

Answer Keys
Subject - BST



Set - 1

Q. ANS Q| ANS Q| ANS | Q| ANS
1 A 11 D 21 B 31 D
2 A 12 B 22 D 32 A
3 D 13 C 23 A 33 A
4 B 14 B 24 B 34 B
5 A 15 A 25 A 35 B
6 A 16 C 26 C 36 A
7 B 17 A 27 B 37 D
8 D 18 A 28 B 38 B
9 C 19 C 29 C 39 A

10 B 20 B 30 B 40 C




